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Choose the correct answer
y A1
InAXYZ s XY: YZ=-ivniiis

(a)sin X :sin'Y (b)sinY :sinZ (c)sinZ:sinX (d)sinZ:sinY
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Choose the correct answer

InAABC »ifm(£ A)=30° » a=6cm. sthen Si:B—“.....m...

(a) 3 (b) 6 © 5

_ @ 6
S ? A dm3o
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Choose the correct answer
IMAXYZifm(£X)=60° > m(£Y)=30° > X=4Y3cm. sthenz=rrrreem

(2) 6 (b) 443 () 8 ) 83 |
“ 2z u& Z
Sw X w2 Swmbo S0

-
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Choose the correct answer
ABC is a triangle in whicha=27cm. 5 m (£ B)=82° s m (£ C)=56°
» then the area of the triangle = oo cm?
(a) 540 (b) 447 (c) 350 (d) 400
A-AD- Labsme MR Ro- (149
= L\').

- -;- (2B (U9) Sius¢ 2%
8 \“\4\7, \'\%‘L’
~ L\Uﬂ(

b Q:{» S\“\%‘L (., uo
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Choose the correct answer

InAABC: m (4 A)=45° ym (£ C) =60° , the radius of the circle passes through its
2

vertices = 20 cm. » then the area of the triangle = ------------- cm?

(a) 462 (b) 473 (c) 452 (d) 493
o _ < .o¢ WmULR):\go -Lus )
8 " A S'\\C, = ?S

IR (206)(26§)SnF
TS L R
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Choose the correct answer

3 S

,a=52Cm. ,thenb: ...............

ABC is a triangle in which cos A = 350 tan B = 17
(a) 25 (b) 50 e} 12.5
(0
S G
8"“\ n S\N'B
o ..o
/5 3

Mr. Michael Gamil

(d) 26 |
)
A q 3 5
[ v
\
S
524%  _og
Y
%

0122 13 15 981
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Choose the correct answer

If r is the radius of the circumcricle of triangle XYZ » then

(a)r (b) 2t ©) -;- r

2 sin
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ABC is a triangle sin whicha=12cm. s m (£ A) =30° » then the radius of

Choose the correct answer

its circumcircle = «-----oeeeveeee cm.
(a) 6 (b) 24 (©) 12 d) 63
@ _ - ax
Sin A
Q
\2 o
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\\
[ Ay
Choose the correct answer

A circle of diameter 20 cm. passes through the vertices of AABC sa =10 cm.

s then m (£ A) could be equal -

(a) 30 (b) 60 (c) 45 (d) 90
Q
-_— Lr
5'\& A P
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In AXYZif siznjgc = 10 , then the diameter of the circle passes through its vertices

equals ............... length units.
(a)5 (b) 10 (c) 15 (d) 20

2 . \o

Choose the correct answer

3. CQ\'):\O
2Dzl = D=9
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Choose the correct answer

ABC is an equilateral triangle » the length of its side is 6 cm. and the area of the circle
passes through its vertices equals k JU cm? sthenk = «-oveveeenne

@23 (b) 83 (©) 12 d) 24

6 e ‘\Tr"'s T

98w 62 W“':

=243
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Choose the correct answer

An equilateral triangle s the length of the diameter of the circle passes through

its vertices 4% cm. s then its area = ----eoeeeveee cm.
(a) 18 (b) 36 () 183 @) 913
O
2 G
Sinbo

Q- “J,; S’méo = 6

ﬂ¢ _%xé)(é)(SchO
36 -z =

_ Y,
- v}
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Choose the correct answer \’):"
ABC is a right-angled triangle at A in which AB = (log, 3) cm. » AC= (log, 64) cm.
s then the area of AABC = -+ cm?

(@15 (b)3 (c)log 16 (d) log2 16
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Choose the correct answer

TheareaofAABCis21V-§cm? s a=6cm. » m(LB) 60° 5 c=-
(a) 14 (b) 7 ©13 ~ @143

n 5;‘ QCS\A | = 2| QE
L X6 KC X Sinbo = 0§

-
%C .

U2
cz— =Y
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Choose the correct answer

ABC is an isosceles triangle » in which m (£ B) = 120° and the length of the diameter of

the circle passes through its vertices = 8 cm. s then its area = -+ cm?

y> g
()83 (b) 413 (c) 4 (d)8

: e L = \\ - 8 \-b -
T se sae
‘, \
,U \

7—:38&\30 :L‘

-
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Choose the correct answer W(L®R) = 5°.
A ABC ,inwhiCIG+3b= 12cm.\m(LA)=70° sm (£ C)=60° sthen c = --weeeeevee
(a) 2.8 (b) 3 (c)32 (d)34

@ . GY  agw

S A QP S SR VA +38ud
gQ _ o 3\0 c 2z B
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Choose the correct answer

ABC is an acute-angled triangle in whichﬁ b @ thenm (£ B) = --oeeeveeens
(a) 30 (b) 45 (c) 60 (d) 75
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Choose the correct answer

InAABC sifc=6sinC sthen —2=0 = ccoeccennleae
sinA-sin B

(a) 13 (b) 6 (c) 12
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Choose the correct answer

InAABCsa-b=4cm. » sinA= —g— sinB sthena=----eeeennn.

(a) 12 (b) 6 (c)4 (d)8
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m Togeﬂler we-ean-make mah

Choose the correct answer c.
sin(A+B) _ SinC

HLEARE sinA+sinB SwRtswgd ¥
= ) —& (c) =2
a+b b+c a+c

ArBrc= B9

Gos (AR®) =— G C
8’\v\ LA f@) - %'s"\c-—

Wi
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Choose the correct answer
IfsinA:sinB:sinC=3:4:5then &2 = .= s
a 3w,

(@)9 OF: (©)3 @ 2

Qb C-23:u:9
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m Togeﬁqer we-ean-make maf

Choose the correct answer

If athgeudwthewwough the vertices of A ABC =3 cm.
. sin A + sin B + sin C = 2 , then the perimeter of A ABC = «--oeeveveve cm.
- R

(a) 6 (b) 9 (c) 12 (d) 24

PP AN

S & 5nBaSnC

Q D ABC = 2(3)
>

@, N e = \ 2 e~—r-—

oN
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ey o |

Choose the correct answer
If r = the radius of the circle passes through the vertices of A ABC

, then a+b+c _ 2:(»

sinA+sinB+sinC
(a) 4 b)2r (c)3r (d)6r
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m Togeﬂler we-ean-make mah

Choose the correct answer
INAXYZ»if mZLX):mLY):m(£LZ)=2:3:1sthenX:y:z= oo

@3:42:1 b)Y3:2:1 ©V2:43:1 (@2:3:1

ML) CY. &Z % Sum
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Choose the correct answer '
In AKBC o1 (ZA) : miZB) ; m(Z ©)=9:5: 4,thentheradiusof
the circle passes through its vertices = - cm.

(a) 8 (b) 4 (c) 16 (d) 12
AiB: C:Sum —.";‘Q“r
9-5:4 ~\8

© )
qé’.sé ‘\/lo. \ 3o 2 o
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Choose the correct answer
If4sinA=3sinB=2sinC sthena:b:c=-oeeee

(a)2:3:4 (b)4:2:3 (c)6:4:3

USiaf  3Siug 2.SinC.

-
-

(2 \2— o)
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Togeﬁ')er we—can—ma/ee mmt \\/A\

Choose the correct answer
ABC is a triangle » in which b = 12 cm. » r is the radius of its circumcircle » then the area

of the mangle e, Cm.2

(a) 226 (b) 32¢
& r

fg)as (d) &ac
r T

a A- *qcsm‘%
Sinh "By s-c @

QA (3
A= Lxoxc x& . 22C
=T X ' X
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Choose the correct answer M(Z\
P -4

A XYZ is a triangle in which YZ=5cm. » XZ=3cm. > cosZ=
2 - n
’ then XY = -eeeevenenn.
@)7 (b) 49 47 @18
S Y x 8'\\‘ S ‘\Z

X3z | gt —axyesZ

237954925\ 3) () = Z

Wi
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Choose the correct answer
ABC is a triangle in which its perimeter =70 cm. » b=30cm. » c=14cm.
. then m (L A) — i iiiierearienas o

(2) 30 (b) 60 (c) 120 (d) 150
A+ b xC =40
G+ 3ot =D
Q= o -UHu-=-9¢€
Cos oo xS -a :Bév*uq;-(u)‘ -\
2 oc 2(30)qs) ¥

ML) 2 Cps (A Y=60
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m Togeﬁqer we-ean-make mah

Choose the correct answer

InAABC: If m(LA)+m (£ B)=120° 5 a=2cm. s b=3cm.
< <

b thel'] C = seevnnnninnnnns cm.

(2) 4 (b) 3 ©47 @5

mlc) = \go —(20 = 60

r

C 5\17@2* bk-iqb Cos
C:{UusxQ —2DQR)Gs6e = {F—
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Choose the correct answer

The measure of the greatest angle in A ABC which has side lengths 3 cm. 55 cm. 5 7 cm.

(a) 110 (b) 150 (c) 100 (d) 120
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Choose the correct answer
InAXYZif X=13cm. » y=14cm. » z=15cm. sthensin X = -oooeeeeee

OF (b) 5 © 2 @+
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m Togeﬂler we—cam—ma/ee mmt

Choose the correct answer
InAABCifa=b sthencosB=--ceenve.

C a L
(@) 2a ®) 2¢ © 2¢
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Choose the correct answer
In AABC ifsmé =2cos B sthen -+--eveevee

sSin

(a)b=a (b)b=c

Mr. Michael Gamil 0122 13 15 981
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Choose the correct answer —
2 2 2
In AABC : % o D
@ [-22] o3 k22 @k1s1]
z
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Choose the correct answer
ABC is a triangle in which a2 +b>—c?+Y3ab=0sthenm (£ C) = -oveereeees

(a) 30° (b) 150° (c) 60° (d) 120°
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Choose the correct answer
InAABCif(a+b-c)(a+b+c)=3absthenm (L C)=-rreeeeee -

(a) 30 (b) 60 (c) 120 (d) 150
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m Togeﬁ'ler we—cam—ma/ee mmt \\/\

math
inuse

(d) 120 !
z

Choose the correct answer
.ca-b_ ¢ . EES— °
InAABC,lfb+C— sthen: m (£ A) =

a+b
(a) 60 (b) 30 (c) 45
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Choose the correct answer
InAABC sifa:b:c=3:2:2 sthencos A=

(a) § (b) =
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Choose the correct answer

InAABC:6a=4b=3c ,then measure of smaliest angle to the nearest minute = ------------

(a) 57° 28 (b) 41° 12 (c) 28° 57 (d) 36° 52
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Choose the correct answer
If ABCD is a cyclic quadrilateral s then cos A+ cos C = ---ooooeeve

(a) zero (b) 1 (©) % (d) -1

m‘i
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Choose the correct answer “
If ABCD is a parallelogram s then cos A+ cos B = ----eoeevee
(a) 1 (b) zero ©)-1 (d) 0.1
3

Mr. Michael Gamil 0122 13 15 981



m Togeﬁqer we-ean-make mah

Choose the correct answer
ABCD is a parallelogram > in which AB=8cm. 5 BC=1licm. s BD=9cm.
s then length of A = sistssiziaris cm.

(a) 6 (b) 10 (c) 11 (d) 17
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Choose the correct answer
In the triangle XYZ 5 (Xy z):sin X siny SINzZ = ---ooeeeeee
(where r is radius of its circumcircle)

(a)2r (b) 81 () & I?
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Choose the correct answer

AXYZ in which : —X— 4+ -7 4+ _Z
snX siny sinz

of AXYZ = -----viviieinnn cm.

(a) 2 (b) 6

Mr. Michael Gamil

= 12 4 then radius of the circumcircle

(c) 12 (d)4

0122 13 15 981
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Choose the correct answer
In the opposite figure :

ABCD is a quadrilateral in which :
AB=8cm. »BC=6cm. ym (£ B)=90°
sDC=5cm. ym (£ ACD) = 60°

» then the area of the circumcircle of AADC = ----veeeeveee cm?

(a) 9 7T (b) 16 T ©)257 (d) 49 Tt
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